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CS306/1T306 Roll NO. ¢ cccceensasaassasanens

Spl. 2020
COMPUTER NETWORK

fraifa aw . dR =) (IAferehan 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70
P (i) FYH Y G E, sy 7 @ fargl IR & I G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(ii)  FoA% T & GH yrT %) HHER U G &7 Hiord |
Solve all parts of a question consecutively together.
(iii) T 59 %) 79 Y8 8 IR Fford |
Start each question on fresh page.
(iv) 2T s F 3R 817 1 et 7 it 3are 8 A 8 |

Only English version is valid in case of difference in both the languages.

1. (1) IPv43emm & sifan o (bytes 1) €l

(a) 32 (b)y 1024

(c) 65535 (d) 512

The maximum length (in bytes) of an IPv4 datagram is
(@ 32 (b) 1024

(c) 65535 d) 512

(2) HTTP i 314 2
(a) Hyper Terminal Tracing Protocol
(b) Hyper Text Tracing Protocol
(c) Hyper Text Transfer Protocol
(d) Hyper Text Transfer Program
HTTP stands for
(a) Hyper Terminal Tracing Protocol
(b) Hyper Text Tracing Protocol
(c) Hyper Text Transfer Protocol
(d) Hyper Text Transfer Program

(3) szﬁzwﬁ:&ﬂf@ﬂmmﬁmmﬁmw%:

(a) protocol (b) URL

(¢) Email address (d) 1CQ

The location of a resource on the internet is given by its —
(a) protocol (b) URL

(¢) Email address (@ ICQ
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(4) 1Pv6 U # fererft forga 2l & 7

6

Q)

(a 32 (b) 64
(c) 128 (d) 256
How many bits are there in IPv6 address ?
(a) 32 (b) 64
(c) 128 d) 256
(5) Pedds o ad IPvaTar? 7
(a) 124.201.3.1.52 (b) 01.200.128.123
(¢) 300.142.210.64 (d) 128.64.0.0
Which of the following is correct [Pv4 address ?
(a) 124.201.3.1.52 (b) 01.200.128.123
(¢) 300.142.210.64 (d) 128.64.0.0
WAN &1 3714 3
(a) Wide Area Net (b) Wide Access Network
(¢) Wide Area Network (d) Wide Access Net
The term WAN stands for
(a) Wide Area Net (b) Wide Access Network
(c¢) Wide Area Network (d) Wide Access Net
[P address o fehae 9 (versions) 39cied] 27
(a) 6 versions (b) 4 versions
(¢) 2 versions (d) 1 version

¥

How many versions available of IP address ?

(a) 6 versions (b) 4 versions

(c) 2 versions (d) 1 version

1 [P Neiehiet o1 SAfavas-a 71 S 2 ?

(a) THThe @I THATE | (b) e TS A AR TET HhaAT 2 |

(c) Tl I TR THAR | (d) I @it
Why IP protocol is considered as unreliable ?

(a) A packet may be lost.

(b) Packet may arrive out of order.

(¢) Duplicate packet may be generated.
(d) All of the above
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©) Yeafdn i siewea & e F1 7ae" 8 ?
(a) U Fohe 1 avft oef 61 A = |

(b) et mefiw ot b b At T |

(c) e Tereht ferd mefim =t ift e |
@) e e Rdhy wefia 1 Srga w9l =i At T |

What do you mean by broadcasting in networking ?
(a) Transmitting a packet to all machines.

(b) Transmitting a packet to some machine.
(c) Transmitting a packet to some particular machine.
(d) Transmitting a packet except a particular machine.

(10) SrReE @9 % fre [EEE 802011 wieh gRT i & fobel ediTe (multiple) eczers|

Fh-{1eh =1 I fFET AT 8 7

(a) CSMA (b) CSMA/CA
(c) ALOHA (d) CSMA/CD
Which of the following multiple access technique is used by IEEE 80201 1
standard for wireless LAN ?
(a CSMA (b) CSMA/CA
(¢) ALOHA (d) CSMA/CD
(11) ZEidt Fiiehiet HT THR 3
(a) A ANTS (b) A EH
(c) (d) IHE Tt
The type of UDP protocol is —
(a) Connection oriented (b) Connection less
(¢) Wireless (d) All of the above
(12) #1791 N et 3o & forg soam fopan S 2 2
(a) SMTP (b) POP
(c) FTP (d) =t
Which protocol is used to send email ?
(a) SMTP (b) POP
(c) FTP (d) All of these
(13) =gy Teifea &
(a) Client & Server (b) Master & Slave
(c) Internet & Intranet (d WWW & HTTP
Bluetooth is related to
(a) Client & Server (b) Master & Slave
(¢) Intcrnet & Intranet (d WWW & HTTP

P.T.O.
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(14) T Feash | T3 (Router) F R R ?

(a) it s fie W forg 3 smifyd a2 |

(b) ¥z H 3T TH FSTNE fefeh T s ? |

(©) Pyt e & 6 A3 ) Fba smaeiEn fiieh T B e 2 |
(d) Wﬁ@ﬁmﬁ@wwm%ﬁmaﬁﬁﬂm%l
What does Router do in a network ?

(a) Forward a packet to all outgoing links.

(b) Forward a packet to the next free outgoing link.

(c) Determines on which outgoing link a packet is to be forwarded.
(d) Forwards a packet to all outgoing links except the originated link.

(15) GeRfem o1 3gai fopan < 8

(@) T R Feadh B Aok # fafia 0 % fere |
(b) Yoad 1 Jeah FoE # fawifor & &

(c) eas &l ufieHiEgH o |

(d) I9RE H IS A

Subnetting is used to —

(a) divide one large network into several smaller ones.
(b) divide network into network class.

(c) speed up the speed of network.
(d) None of above

(16) =g IeTE 2
(a) ehet OfE JTE (b) T WFAE A
(¢) uHe uft Feah (d) IR H & B3 TE
Bluetooth is an example of —
(a) Local Area Network (b) Virtual Private Network
(c) Personal Area Network (d) None of above

(17) FDDI®
(a) o9 o AT (b) U FTTH
(c) WHETH d) T
FDDI is
(a) Bus Based Network (b) Mesh Network
(c) Star Network (d) Ring Network

(18) Srffigd 1 & i a1 HH e o T g T R S @ 7
(@) P (b) TEHIE
(c) Al B (d) S BT
Which of the following task is not done by data link layer ?
(a) Framing (b)  Error Control

(¢) Flow Contrel (d) Channel coding
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(19)

(20)

eay)

(22)

(23)

(24)

192.168.1.1 frw @oira 1 [P address & ?

(a A (b) B
() C d D
192.168.1.1 is an IP address of which class ?
@ A ®) B
(¢) C (d D
SMTP 1 faeam 2

(a) Simple Mail Transfer Protocol

(b) Simple Message Transfer Protocol

(c) Simple Mail Transmission Protocol

(d) Simple Message Transmission Protocol
Expansicn of SMTP -

(a) Simple Mail Transfer Protocol

(b) Simple Message Transfer Protocol

(c) Simple Mail Transmission Protocol

(d) Simple Message Transmission Protocol

F 2w T Sie % Fu STl TIE T ISR 8 7

(a) TISHIER APTIH (b) wEGH

(c) T (d) T=TH

Which of the following is an example of user agent for email ?
(a) Microsoft outlook (b) Facebook

(¢) Google (d) Tumbler

aﬁﬁmm—mﬂﬁaﬁﬂmmaﬂﬁ%,aﬁaﬁmﬁsﬁ@%m
Preffia 7 2 fra fearsa 1 3w fHn @2 ?

(a) Tt (b) Ted

() = (d &«

If the systems use separate protocols, which of the following device is used to
link two systems ?

(a) Repeater (b) Gateway

(¢) Bridge (d) Hub
freiwac? |

(a) T st (b) W

(c) A (d URL

A is a set of rules.

(a) Resource locator (b) Protocol

(¢) Domain (d) URL

POP3 3 fo77 Port Number (91 7 2

(a) 110 (b)y 90

(c) 80 (d) 49

What is the Port Number for POP3 ?

(@ 110 (b) 90

(c) 80 (d 49

P.T.O.
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(25) |1 NerHTe $TEE & T T I IP UZE eH HLl & 7

(a) DHCP (b) 1IP
(c) RPC (d) RSVP
Which protocol assign IP address to the client connected in the internet ?
(a) DHCP (b) 1P
(c) RPC (d) RSVP
(26) HI ATTh

(2) TSI HHH N HEII H EE |
(b) HHfHIA ST g T §3T |
(c) EHETHHT o G il ATH1 B |
(d) S9UH ot
Computer Network is
(a) Collection of hardware components and computers
(b) Interconnected by communication channel
(c) Sharing of resources & information
(d) All of the above
(27) i IP Fohe | EFT TT(ET

(a) Had O™ TgH (b) et SERYA TgH
(c) dd 3R SEeTH gd (d) €rd = YA UgH

Each IP packet must contain —

(a) only source address (b) only destination address

(c) source & destination address (d) source or destination address
(28) Wmmmﬂmﬁm%ﬁaﬁammww%

(a) Flow Control (b) Data Management

(¢) Data Control (d) Flow Management

The management of data flow between computers and devices or between nodes

in a network is called —

(a) Flow Control (b) Data Management

(c) Data Control (d) Flow Management
9) FeddsmdgFa e 7

(a) networking@point.com (b) gmail.com

(¢) networking@.com (d) networking@books

Which of the following is a valid email address ?

(a) networking@point.com (b) gmail.com

(¢) networking@.com (d) networking@books
(30) =1 # & F7 H Sevbiel 7@ WWW, HTTP, FTP, SMTP e Sieishiet i STirT
A2 ?
(a) Application layer (b) Transport layer
(¢c) Internet layer (d) Hardware layer
Which protocol layer uses the protocols WWW, HTTP, FTP, SMTP etc. ?
(a) Application layer (b) Transport layer

(c) Internet layer (d) Hardware layer (1x30)
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2.

)

(i)

®

(i1)

@

(ii)

(i)

(i)

®

(i)

1)

(ii)

Py m#mé?lpvmﬂupvéﬁm’mmﬁﬁm

What do you mean by IP ? Explain difference between IPv4 and IPv6.

Transport Layer §RI & ST arei! fafir Ganati & g9y |

Explain various services provided by Transport Layer.

FAF9H Tad T FAGA Ieh TeIbict Bl Gagsy |

Describe connection less and connection oriented protocol ?
e T (Transport layer) % fore fr=ferfiaa 1 awsmse :
Explain following for transport layer :

(a) Multiplexing

(b) Addressing

femea St TRfén =1 U IR GH FHATRT |

Explain Distance Vector Routing with suitable example.
Multicast Routing (Fedisrez T3fen) =i 3grew afed Tresy |

Explain Multicast Routing with example.

IEEE 802.11 &1 faa @fga avia hifs |
Explain IEEE 802.11 with diagram.
Y A ) HETITE! o T i ferEd & FEAS |

Explain in detail the working and application of Bluetooth technology.

e 1§ Fret WidiesTel Y i i SHHATST :

(a) POP

(b) HTTP

Explain the role of following protocols in email :
(a) POP

(b) HTTP

HTESA ZEE TIeehict ol GHHATSY |

Explain File Transfer Protocol.

et % P Td wEeE § CSMA/CD Sieisiet & ITant &1 o HIFT |
Explain the role of CSMA/CD protocol in resolving and managing collision.

1016

(5+5)

(3+5)

(5+5)

(5+5)

(3+5)

31 Roier ST b1 e T R 7 321 foieh Wi &l fete Rl bt e i |

What is the significance of Data link layer ? Explain the various design issue

data link layer.

s of

(5+3)

P.T.O.
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8.

(i) Fead Y . 0. un. . Sl EHEse |
Explain Network Management SNMP.

(i) WiMax IEEE 802.16 %I GHITST |
Explain WiMax IEEE 802.16.

forferfiga & & fred & v wiftm feoavft fefae -
(i) Flooding

(ii) FDDI

(iii) DNS

Write short notes on any two :

(i) Flooding

(i) FDDI

(i1i) DNS
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